Algebra 2 Bellwork  Monday, June 8, 2015

1. Write the equation of the Tangent function shown. The window is 0 to 6z«
I 4 (1 " 1 + ! =N

2. Use this rational function: y =

S3x+6)(x—2) _ _3x2_—12x+36
(x+3)(x-3) x*-9

a) Find the x and y-intercepts

b) Write the equation of the Horizontal Asymtptote, if any.

c) Find points of discontinuity, if any, and classify them as Holes or Vertical Asymptotes.

Simplify each. Use absolute value symbols when necessary.
3. §162a°% % 4. 64x28y32717

5. Solve this rational equation: —&-+ =

6. Solve this radical equation: /24 —4x +3 = x

12a

Y6a’b°c

7. Rationalize this denominator and simplify.
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